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QUESTION 1

Referring to the VTEP output shown in the exhibit, which two statements are true? (Choose two.) 

A. The. MAC address 52:54:00 5e 88 6a belongs to a remote host. 

B. The MAC address 52:54;00 5e 88 6a belongs to a local host. 

C. The MAC address 52:54:00 2c 4b:a2 belongs to a remote host. 

D. The MAC address 52:54:00 2c 4b:a2 belongs to a local host. 

Correct Answer: AC 

 

QUESTION 2

Your colleague has begun working on the base configuration for an active-active multihomed EVPN connection shown
in the exhibit. 
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Which two actions will ensure a successful implementation? (Choose two.) 

A. Change the ESI mode on PE2 to all-active 

B. Change the ESI mode on PE1 to signal-active 

C. Change the ESI value on the PE1 device to 00.22.44.88.00.22.44.66.88 

D. Change the ESI value on the PE2 device to 00.00.00.00.00.00.00.00.00.00 

Correct Answer: AC 

 

 

QUESTION 3

What is the purpose of the command shown in the exhibit? 
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A. To stop the reception of transit multicast traffic when there are no interested receives attached to the local VTEP 

B. To disable the group2390.0.1 across the entire VXLAN. 

C. To stop the transmission of transit multicast traffic when there are no interested receives attached to a remote VTEP 

D. To disallow IGMP request for the group 239.0.01 from host attached to the local VTEP 

Correct Answer: C 

 

QUESTION 4

You need to add perimeter security to the network shown in the exhibit. All traffic must be inspected for attacks. The
edge routers are using all available ports. Your solution must maintain both port and device resiliency. 
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In this scenario, which design would satisfy these requirements? 

A. one-arm SRX Series chassis cluster 

B. one-arm SRX Series device using LAG 

C. inline SRX Series chassis cluster 

D. inline SRX Series device using LAG 

Correct Answer: C 

 

QUESTION 5

You are asked to enable plug-and-play line card switches in an active VCF without making any future Junos
configuration charges. You are also required to ensure that all new line card are automatically upgrade to the correct
Junos version without any manual intervention. In this scenario, which two actions will accomplish this task? (Choose
two.) 
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A. Set the virtual Chassis as auto-provisioned before the line cars are inserted. 

B. Ensure that the newly instead card\\'s MAC addresses are present in the DHCP configuration for ZTP. 

C. Set the Virtual Chassis as per-provision before the line are inserted. 

D. Configure the auto-sw-update parameter on the VCF before inserting new line cards. 

Correct Answer: AD 
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